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ASIASEA 7,879,999 7,799,880 80,119
AEHHPH 89,150 20,000 69, 150
|0IAS 89,150 20,000 69, 150
ABIAS A2 55,150 20,000 35,150
201 et | 23,000 12,000 11,000
01 AP 2t 2] H| 23,000 12,000 11,000
OY AR KAELS| O (ABHEHD| 23])
10,000,000 *23| 20,000
O=2clsUl SNS&8s MEHE 29
300,000& «103l 3,000
203 € R F=&d| 8,000 8,000 0
03 AIEH =X 2 F XY 8,000 8,000 0
OZZXd g2z 3,000
OABIAE AlHAR FX 5,000
405 XHAHF S HI 24,150 0 24,150
01 XAt 2 ZF S| 24,150 0 24,150
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O&BHEAMD| 500
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Oor(=2x¢ad) 250,000 54 1,250
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O8 FuRSE= 101,740& +2EH 60 12,209
oti&= 89,9703 60 5,399
odtgole Al & NELEHE
17,607,000& *2.5% 441
202 Oddl 5,000 5,000 0
01 = LH o4 1l 5,000 5,000 0
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